Student Notes
October 11

m rl:nristian Reformed Church

Double Standard

Galatians 3:1-14

What are the five questions Paul
asks in verses 1-57?

Paul is comparing two standards for living in today’s
passage; what are those two standards?

What was your favorite song today?
Name one interesting thing you did this week.
Prayer requests:

Name.

Today’s Bible Passage: Galatians 3:1-11

(Can you find the highlighted words?)
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beginning by means of the Spirit, are you now trying to finish by means of
the flesh? Have you experienced so much in vain—if it really was in vain?
So again | ask, does God give you his Spirit and work miracles among you by
the works of the law, or by your believing what you heard? So also Abraham
“believed God, and it was credited to him as righteousness.” Understand,
then, that those who have faith are children of Abraham. Scripture foresaw
that God would justify the Gentiles by faith, and announced the gospel in
advance to Abraham: “All nations will be blessed through you.” So those
who rely on faith are blessed along with Abraham, the man of faith. For all
who rely on the works of the law are under a curse, as it is written: “Cursed
is everyone who does not continue to do everything written in the Book of
the Law.” Clearly no one who relies on the law is justified before God,
because “the righteous will live by faith.”
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Justified by Grace

Trace the letters below.

” The gospel is the power of God.
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The righteous will live by faith.

What do the righteous have?

Match the shadows.
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God is just. “Justified by Grace

Paul said the gospel is
the power of God for salvation.

Unscramble the letters to make a word that fits the clue. :
Use the letters to complete the verse. Supply the 1st letter of each food item on the
‘/}3 grocery list to read the rest of Paul’'s statement.

1 2 3 4 5 6 2
BLABFY weak, not firm — Ce cream _
___nions
PLAPSE red or yellow fruit __pples __ish
FONMIR make known ilk
___eabags
WHORST pitches ___uts __orseradish
__lives ___ndive
HENDID concealed ___omatoes
__arlic
, . ___vocado ___ranges
God presented Him as a sacrifice of atonement, ~ pinach _ trawberries
through in His __am ___eaches
column 1 column 4 __Imonds ___ggplant
___ushrooms __ ettuce
—_9gs
__ates ‘
— J
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Find out more about righteousness.

Fit the words from the pyramid into the blanks,
according to the number of letters in each word.

We are justified

by His grace.

from the verse at the left.

Circle all the words

N O
GOD
FALL
FAITH
SINNED
BELIEVE
JUSTIFIED
REDEMPTION

RIGHTEOUSNESS

This
from God comes through in Jesus
Christ to all who . Thereis
________ difference, for all have
and short of the glory of ____ ___, and
are freely by His grace

through the

that came by Christ Jesus.
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